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Questions

Which of the following has stble elecronic configuration.

Outermost shell of chlorine stom has................. electrons.

Outermost shell of sodium atom has ...... electrons.

How many atoms orm one molecuel of chlorine.

Chemical bond between N2 Molecule is

Oxygen is a

Which of the following is an anion.

Which of teh following is cation.

A molecule consists of two or more

On heating sugar changes into

Answers Choice

D.

A
B.
C.
D.
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H
He
C
Li

AWN = TN =

AW =

. lonic

Single covalent
Double covalent
Triple vocalent

Monoalent element
Divalent element
Trivalent element
Tertravalent element

F

Cl
S-2
NH3

H2
H20
co2
NH+4

Compounds
Atoms
Formulae
Element

Carbon

Water

Both carbon and water
Heat



